SIEMENS

Anschluss Kabel 3WL/3WA /2000A /3200A / B800
Connection kit cable 3WL/3WA /2000A / 3200A / W800

Kit de racc. par cables 3WL/3WA /2000A /3200A/L800
Juego de mont. 3WL/3WA /2000A / 3200A / Conexion a cable
Kit di collegamento 3WL/3WA /B800/2000A / 3200A / cavi
Kit de ligacao 3WL/3WA/2000A /3200A / L800 cabos

Kablo baglanti baralari 3WL/3WA /2000A / 3200A / W800
MopkntoueHune Kk kKabento 3WL/3WA/2000A /3200A/B800
Zest. do podt. kabl. 3WL/3WA/2000A/3200A / W800
FASEEEM 3WL/3WA/2000A/3200A/W800

8PQ9801-0AA22 IEC 61439 C €
UK
CcA
Betriebsanleitung Operating Instructions  Instructions de service Instructivo Istruzioni operative
Instrucées de Servico  isletme kilavuzu PykosoactBo no akcnnyarayun  Instrukcja obstugi AR

DE

EN

FR

ES

GEFAHR

Gefdhrliche Spannung. Lebensgefahr oder schwere Verletzungsgefahr.

Vor Beginn der Arbeiten Anlage und Gerdt spannungsfrei schalten. Die Installations- und War-
tungsarbeiten an diesem Gerat diirfen nur von einer autorisierten Elektrofachkraft ausgefiihrt
werden.

DANGER

Hazardous voltage. Will cause death or serious injury.
Turn off and lock out all power supplying this device before working on this device. Installation
and maintenance work on this device may only be carried out by an authorized electrician.

DANGER

Tension électrique. Danger de mort ou risque de blessures graves.
Mettre hors tension avant d'intervenir sur I'appareil. Les travaux d'installation et d'entretien de cet
appareil doivent uniquement étre réalisés par une personne qualifiée en électricité.

PELIGRO

Tensién peligrosa. Puede causar la muerte o lesiones graves.
Desconectar la alimentacion eléctrica antes de trabajar en el equipo. Las tareas de instalacion y
mantenimiento de este equipo solo puede llevarlas a cabo un un electricista autorizado.

PT

TR

SO P>

PY

PL

FX

PERICOLO

Tensione pericolosa. Puo provocare morte o lesioni gravi.

Scollegare I'alimentazione prima di eseguire interventi sull'apparecchiatura. L'installazione e la
manutenzione di questo apparecchio devono essere effettuati solo da un elettrotecnico autoriz-
zato.

PERIGO

Tensao perigosa.Perigo de morte ou ferimentos graves.

Desligue a alimentacao elétrica e proteja contra o religamento, antes de iniciar o trabalho no equi-
pamento. Os trabalhos de instalacdo e manutencdo neste equipamento somente podem ser real-
izados for eletricistas autorizados.

TEHLIKE

Tehlikeli gerilim. Oliim tehlikesi veya agir yaralanma tehlikesi.
Calismalara baslamadan 6nce, sistemin ve cihazin gerilim beslemesini kapatiniz. Bu cihazin mon-
taji ve bakimi yalniz yetkili bir elektrik teknisyeni tarafindan yapiimahdir.

ONACHO

OnacHoe HanpsxeHue. ONacHOCTb ANA XXU3HU UK BO3MOXXHOCTb TAXKENbIX TPaBM.

Mepen HauanoM paboT OTKNIOUKWTL Mofauy NUTaHUA K YCTaHOBKE U K YCTPOUCTBY. PaboTbl no
MOHTaXy U TEXHUUECKOMY 0BCNyKMBaHWUIO aHHOTO YCTPOMCTBA AOJIXKHbI NPOWU3BOAUTLCS YMON-
HOMOUEHHbIM CMeLUanucToOM Mo 3NEKTPOTEXHUKE.

ZAGROZE-
NIE

Niebezpieczne napiecie. Niebezpieczeristwo powaznych obrazen lub utraty zycia.

Przed rozpoczeciem prac wytaczy¢ zasilanie instalacji i urzadzenia energia elektryczna. Prace insta-
lacyjne i konserwacyjne na tym urzadzeniu moze przeprowadza¢ wytacznie posiadajacy odpow-
iednie kwalifikacje elektryk.

ek

fEREBE. FRESHERBRNERRR.
BRIFgENOFIRRIIETEIR. ZREHZRNER TIFNER RS T L F8AY BT 5.

8PQ9801-0AA22

Last Update: 20 May 2021




DA FARE Farlig speending. Livsfare eller risiko for slemme kvaestelser.
Inden arbejdet pabegyndes skal anlaegget og enheden gares spandingsfri. Installationer og vedli-
geholdelser pa dette apparat ma kun gennemfares af en autoriseret elektriker.

FI VAARA Vaarallinen jénnite. Vakava loukkaantumisvaara tai hengenvaara.
Laite ja laitteisto on kytkettdva jannitteettomiksi ennen tdiden aloittamista. Taman laitteen asen-
nus-ja huoltotditd saa suorittaa ainoastaan valtuutettu sahkoteknikko.

ET OHT Ohtlik pinge. Oht elule v6i raskete vigastuste oht.
Enne t66de algust tuleb slisteemi ja seadme pinge valja lUlitada. Seadme paigaldus- ja hooldu-
stoid voib teha ainult atesteeritud elektrik.

BG OMACHOCT | OnacHo HanpexxeHue. OnacHOCT 3a XXMBOTa MJIM ONACHOCT OT TEXKHU TENECHU NOBpeau.
Mpenu 3anouBaHe Ha paboTa U3KNrOUEeTe 3aXpaHBaHETO Ha MHCTanauusATa UK YCTPOWCTBOTO.
MOHTaXbT U TEXHUUECKOTO 0BCNyKBaHe Ha TOBa YCTPOWCTBO Ce U3BbPLUBAT €AUHCTBEHO OT
OTOPU3UPAH eNEKTPOTEXHUK.

HR OPASNOST | Opasni napon. Opasnost po Zivot ili opasnost od teskih ozljeda.
Prije poCetka radova postrojenje i uredaj spojiti bez napona. Radove instalacije i odrZzavanja na ure-
daju smije izvoditi samo ovlasteno stru¢no elektrotehnicko osoblje.

EL KINAYNOE | Emkivduvn téon. Kivbuvog yia tn {wn 1} coBapoul tpaupatiopod.
MTpwv amd tnv évaptn Twv EpYacLwV OTTOUOVWVETE TNV EYKATAOTOGCN KaL TN GUOKEUN aTo TNV
mapoxr téong. OL epyacies eykATAOTAONG KOL CUVTHPNONG QUTHG TNG CUCKEUNG TTIPETTEL VO
Tpaypatomolouvtal Pévo omd e€ouclodotnpévo NAeKTPoAdYo.

GA CONTUIRT | Voltas contuirteach. Baol go bhfaighfear bas né tromghortu.
Mdch agus dicheangail gach foinse cumhachta a sholathraionn an gaireas seo sula ndéanfar obair
air. Is ag leictreoir Gdaraithe amhdin ata cead an gléas a shuiteail agus obair chothabhdla a
dhéanamh air.

LV BISTAMI Bistams spriegums. Letalu seku vai smagu traumu riski.
Pirms uzsakt darbu, atslédziet iekartu un ierici no baroSanas. Sis ierices uzstadisanu un tehniskas
apkopes darbus drikst veikt vienigi pilnvarots elektrikis.

LT PAVOJUS Pavojinga jtampa. Pavojus gyvybei arba sunkaus susiZalojimo pavojus.
Prie$ darby pradZia atjunkite sistemos ir prietaiso jtampa. Sio jrenginio jrengimo ir techninés
priezitros darbus leidZziama atlikti tik jgaliotam elektrikui.

MT PERIKLU Vultagg perikoluz. Riskju ta" mewt jew korriment serju.
Itfi u sakkar il-provvista kollha tad-dawl li tkun qged tforni d-dawl lil dan it-taghmir gabel ma
tahdem fuq dan it-taghmir. Ix-xoghlijiet ta' installazzjoni u manutenzjoni fuq dan it-taghmir jist-
ghu jitwettqu biss minn elettricista awtorizzat.

NL GEVAAR Gevaarlijke spanning. Levensgevaar of gevaar voor ernstig letsel.
Schakel véér aanvang van de werkzaamheden installatie en apparaat spanningsvrij. De installatie-
en onderhoudswerken aan dit toestel mogen enkel door een geautorisseerde elektricien uitgevo-
erd worden.

RO PERICOL Tensiune periculoasa. Pericol de moarte sau de accidentari grave.
Inaintea Inceperii lucrarilor, deconectati instalatia si aparatul de la tensiune. Lucrdrile de instalare
si intretinere pentru acest dispozitiv pot fi efectuate doar de catre un electrician autorizat.

SV FARA Farlig spanning. Livsfara eller risk for allvarliga personskador.
Koppla anldggningen och apparaten spanningsfri innan du paborjar arbetena. Installation och
underhall av denna apparat far endast utféras av en behdrig elektriker.

SK NEBEZ- Nebezpelné napatie. Nebezpedenstvo ohrozenia Zivota alebo vzniku tazkych zraneni.

PECENSTVO | Pred zacatim prac zariadenie a pristroj odpojte od napatia. InStalacné a udrZbdrske prace na tomto

pristroji m6Ze vykonavat' vylu¢ne autorizovany elektrikar.

SL NEVARN- Nevarna napetost. Nevarnost za Zivljenje ali nevarnost hudih poskodb.

OST Pred zacetkom dela je treba pri napravi in aparatu odklopiti napajanje. InStalacijska in vzdrzevalna

dela na tej napravi sme izvesti samo pooblascen elektricar.”

cs NEBEZPEC| | Nebezpetné napéti. Nebezpeli smrtelného nebo tézkého drazu.
Pfed zahajenim praci odpojte zafizeni a modul od napéti. Instalacni a udrzbarské prace smi na
tomto pfistroji provadét pouze kvalifikovany elektrikar.”

HU VESZELY Veszélyes fesziiltség. Eletveszély vagy sulyos sériilésveszély.
A munkak megkezdése el6tt végezze el a berendezés vagy késziilék fesziiltség-mentesitését. Ezen
az eszk6zon a telepitéssel és a karbantartassal kapcsolatos feladatokat kizarélag megfeleld felha-
talmazassal rendelkez§ villamossagi szakember végezheti.

Technical Support:

Internet: http://lwww.siemens.com/lowvoltage/technical-support

2 8PQ9801-0AA2

2



http://www.siemens.com/lowvoltage/technical-support

Lieferumfang / Contents/ Etendue de la livraison /

TS Notwendige Werkzeuge / Required tools / i

- Alcance de suministro / £ 55cE Outils nécessaires / Herramientas requeridas /| A ET E
DO o o o o o o o o o0 o

4x 2x| 0o ©o o o o o o o 00
00 o © o o o o o o o o

2x [o 0 O o 0 o o0 o o|

1% To 5} ) 0 o]

2x [ o o )

2X

1x

6x M6x10 4x M10x50

] 4 4x M10x55
X M6x16

6x M6x35 12x M10x65

4x M10x80
4x M6x12

] 16x M10

DIN125

M
6x M6 L= 16x M10

copper

o

24x M10

8xM10
DIN6796
or
or

@
2

M6 T30 /4Nm

=
=

=

8PQ9801-0AA22

/

3



1

l%

=L
a

Information / Information / Informations / Informacién / {

fixed mounted design

type 1

=
O
Q .,. "
S y
= == =20\
O =
m .‘ m“x”u“““”ulu“”“”““ulu“u““““ulu”uunnuulu““”“”“ulu”nnuuuulu““,u
- 7
O mJ /_h...................,...........-......................................................_.................f
O o ! LTRYRIREY
= m i\ m‘;“\—,-\

withdrawable

!

type 2
connection top

withdrawable-unit design

fixed mounted design

8PQ9801-0AA22

4



Montage / Assembly / Montage / Montaje / &% “\1

4x M6x10

4x M6Xx12

212,5

125,0

8PQ9801-0AA22 5



2x M6x10
6x M6X35

@ 6x M6

e

©

=) -

%LAV -y
L] a @-__

I

8PQ9801-0AA22

6



2xX M6x10
6x M6x35

= 6xM6

8PQ9801-0AA22

7



40Nm
M10x65 < >

1
M10x50 @ONm

40Nm

Hn

fixed mou ntedidesi n

@m@xo:\,_@
ssx0LNY |

N

withdrawable-unit design

il

LT o]

(o]

LT Tl

o 0

L[l

el [o] [o] [ol]

4—po|e 0o

[s) P

[e]

o o

3-pole [

L3

L2

L1

L3

L2

L1

8PQ9801-0AA22

8



M10x65 <
40Nm

N

g

-4 A [M10x50 @ONm

:
|

SOXOLIN

=
—T./

40Nm

9
- | SSXOLIN
o

| >

\

o]

lof 111

oL 1]

ol 1

o] Tof [of T[of]

fixed mounted

Il

(o]
(o]

o]
o]

o I ]

o 0
o O

EHIN

o]
[¢]

[o] [of Tol]

withdrawable-unit design
3-pole =

L3

L2

L1

L3

L2

L1

9

8PQ9801-0AA22



10

8PQ9801-0AA22

h1

h2

w400

w600

w800

w1000

h1

250

250

250

225

h2

587.,5

587.,5

587.,5

562,5

e/

s\ s/

S

S

3,0-4,0

o

S

B

S

o ™
ol o
Q ]
Y (]

o [
N )
o )
e [
° o
o [
N °
o o

o

3,0-4,0




w400

w600

w3800

w1000

h1

250

250

250

225

A

Y
=

S

=

=2

8PQ9801-0AA22

15



| Herie é ] o o

ol fly of| e off °

: 9| Rkl ® L)
° © [
8
L e

h
Technische Anderungen vorbehalten. Zum spiteren Gebrauch aufbewahren. 8PQ9801-0AA22

Subject to change without prior notice. Store for use at a later date. © Siemens AG



